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There is no Moh’ail after a Moh’ail — By MR Yy PR

Overview
The &3 cited a mawn which states; w772 5911 0K 2397 PR, Our Mo0IN explains when
there is ¥ R v and where there is no ¥ X H¥n.

- 29101 YW 1NN )17 91 IR T NN PN 1OV U
“"'w explained; there is no successive 729w», one 72°¥n after another 7%°v7 in one
principal of wTp: -

- PYING NYY PYNIN N2 YYNY 1157

For since the first person was ¥ in this item of w7p5 it becomes deconsecrated,
so the item is no longer w7p17 and the second person who uses this item is using an item of 12117 not

an item of wpn. -
- 34253 NYVYW *H9 NNNA NON

However an animal designated as a 1277 and the service vessels of the w7pni n°2

are the only exceptions to this rule. By a n7w 931 a2 even if there was a 72°vn, the *931 Anm2
nw still retain their 7w17p, and the next person who uses them for P21 is Hyn.

nvoN asks:
- WP HY 011D RN (72 prsy NIIYAT NNDDINAT N1I’N

It is astounding! For we learnt in a Xn>>92 in the XnooIn of 79y, regarding an

axe of WP, that if a person -
- 15913 1919 12 ¥952) 19°30 X213 ¥p*a

Chopped with this axe and afterwards his friend came and also chopped with

this axe, they were all ¥ (whoever used this axe for 7" purposes), however if —
- N9YNNIY 12 ¥PAY MM 153/ I NN 5H7930Y 19530 199305 13

He gave the axe to his friend, and his friend gave it to another friend (but no one
chopped with it), the rule is that the first one who gave it was ¥, and his friend

who received it is fully permitted to chop with this axe. This concludes the citation of
the XnooIn.

LR ama.

2 If a person was W>7pn an axe to the n°a77 P73, and then someone used it to chop wood for his personal needs, he is
wp72 Yy (and the axe becomes 1°711). Whoever uses it afterwards is not w7pi2a 2vn.

3 The reason for this exception is that a 127p nnna and 1w *%2 have a 9937 Nw1TP (and not merely a o7 TR like wp
N7 P72 [whose nwTp is limited to the monetary value of the item]).

4R".

3> The words 17°2n2 1°am are seemingly irrelevant, for if the first recipient is 79°1N3% 12 ¥p2% N, so obviously if he
gave it 17°2n% he is not 1. [In our Xno0IN the words 17°21% 17°2m do not appear.]
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=99%0 SN NI INNAN 193N 19N 9 NIV K9S DIT9P OND N 297 12N RHYM
But now,® what case are we discussing in the Xnooin, if this axe is a naw "3, so

when he gave it to his friend, why is his friend not ¥ and is permitted to use it

77°mnab -
= NV 992 YN NN YN Y 12299IN NN

Since we said that by naw %> there is ¥ 18 Y% (for it retains its 7w17p) -
- 1991 1999 AN INAN NIV S92 1IN ON)

And if the axe is not a n9w 9> why does the Xn501n say they are all %12 (in the first

case where 12 ¥p°21 177217 2112 ¥p2) -
- 71253 NV Y99 N19NA NON YN 9NN I3 PPN NA

For we say here there is no »¥% anK ¥ by n°27 272 °w7p; only by naw "2y anam2
alone is there H¥1 R Hyn?!

N190IN answers:
= 5595 AWP NDY NIV DD NIRY DITIPA 99910 DYIT 91919 YN

And one can say that really the Xnooin is discussing an axe which is not a 59

n w, and nevertheless there is no difficulty at all -
= 19520 HY Y750V M0 NINWI 71391 T3 INN HIN PRT XIN 13999NRT NNT

For this which we say here that ¥ anx Sy X, that is in a case [where he
assumes it is his and gives it to his friend, or] he assumes that the utensil belongs

to his friend and he uses it; in these two cases there is no ¥1n X 21 -
- B1)1p9a 9 MNIY PTD 195305 13NN XA 2R5MY 119159595 NN 10TN)

For then he intends to steal it (where he gave it to his friend), like the law of

6 Now that there is no 2y 71X H¥1n by n°27 P72 *w7p, but there is 283 by 7w *22, how can we understand the XnsoIn.
" The xnooin gives us two rules; if one person used the axe, the next person to use it is also 23, however if one person
gave the axe away, the giver is ¥ and the receiver is 70 to use it 72°1n3%. Now if it is not a N *73, why is everyone
5¥1n in the first case where they each used it (since 2¥1 IR ¥ PR), and if it is a N7 *95, why may the receiver use
it in the second case (since by nw *23 there is a 2y NR 21n).

8 If we are discussing an axe which is not a N 23, so why does the Xno01n rule that all who chopped are ¥, since
the rule is that 537 R 9m PR (by n°27 P72 °W7P).

9 The n"a7 M1 amends this to read, RITW 73 X 17°a07 11NIT 82°7 1377 (instead of Xwa 1>77).

10 (When he assumes it is his friend’s and he uses it, he is intending to steal it for X177 1213 Ny K7W HRW.)

' The 17 of 72°yn is when one uses an item of WP while mistakenly assuming that it is not w7ps. In the ruling of X
Sy R Y¥n, the 9¥1m mistakenly assumes either that the article is his and gives it to his friend (where he is XX
1772 MW7 INWR), or he assumes that this article belongs to someone else and he then uses it (where he is R
IMWA? 17720 NWwR); in either case his intention is to remove the item from its original domain and either use it himself
or give it to a friend, therefore since he intends to change the domain of the item, it is considered that took the entire
object out of the N1 of w1pn, and was 1. After he is 91 there can be no further 72°wn.

12 The n"an mnam amends this to read, 775 79137 (instead of P75 1722202 1NAT X% 79149).

13 If one is given a deposit to hold, he may not use it. If he uses this deposit for his benefit this is called 7 mmbw
n7p02.
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7> nyvhw by a deposit -
- BPan 9 Yy 191 XIPI ;YD HIYAN INOKINY 119017 NI4T
That when he intends to take it from the domain of the depositor to another

domain, he is considered to be a 3213 on the entire 7P -
= 1598719 NON INININ ND 199N

Even if he only removed it partially. This is regarding our X3 of 51 X 297 X -
- 1599 19194 13 Y329 19530 XY 13 ¥752) 19530 Na YINDT NNODINT IND YaN

However this which was stated in the Xnpo1n; “his friend came and chopped with

it, and another friend came and chopped with it that all are Y¥1°, the xnoon -
= YD MY INIEIND 1919511 139N) 1D RINY N0 TN 10 DIT 991

Is discussing a case where each one who chopped thought that the axe was his

own, and he had no intention to take it from one domain to another -
= ANIND NN NN MINY NON

But rather he merely wanted to benefit from his axe and leave it after he received

his benefit -
= 16maNH1a 19 YWY AN NIV 299 NIN FIvn* XD NNV INY

So then his 579°p7 is limited to the benefit which he received by the work he did -
= 1999 99¥19) PHINY RY> XIY 12999N 91 DIV

So therefore the Xno501n rules that the axe did not go out to become 1977 and all

were 9P (this explains the first case of the Xnoon) -
= DIV MY INIHNY PYNRIN NN Hyn XD 1931D 195301 19%3N05 1903 DaN

However if he gave it to his friend and his friend gave it to another friend, only

the first one who was (27p) nww=n 8312 to another nw= (his friend) was ¥ -
= 1799521 /YD 1MUY INIEIND NN 129901 0IPN YN 1YY RINY 9207 ) 2N

14 1f the 17pon "W intends to steal the 1175, by picking it up, etc., he becomes liable for the entire 11775 as if he stole
it entirely, even if his intent was only to steal part of the 1775. The same here where he assumed it was his friend’s
axe and he intended to use it (partially), it is considered as if he stole the entire object.

15 In the case of H¥m 7nX ¥ X, the original Yy intended by his action to be MWw"? MW XXM (either when he
thought it was his and gave it to his friend, or he thought it was his friend’s and he used it without permission),
therefore this is treated like he stole the item (the 7> m°5w by a 177p2). Once an item is stolen it now belongs to thief
in a certain respect; for he is now liable for all damages or loss that will occur. Similarly here once he was nmw-n XX
w7pn, he becomes the ‘owner’ so it is no longer w7pi mwn2. [He will need to pay w7pii the full value of the item.]

16 Let us assume the axe is worth twenty o°111; the value of the work he did was merely one 117 (the axe is still intact),
therefore the axe did not go out 1711 (he will need to pay w7p:7 only one 111), and the next person who uses the axe is
51 according to his X371 n2w. See ‘Thinking it over” # 1.

17 79°wn is when someone mistakenly takes an item of w77 and by using it takes it out of the wTpi MwA to become
1211, When a person assumes that the w7pn item belongs to him and he uses it for himself, there was no change of
M (in the mind of this person), therefore he is 71 only X317 N1 95 (and there is 7311 NR 2¥1). However when
there is a change of N in this w7pa item (either if he assumes it’s his friend’s and he uses it without permission
[which is stealing], or he assumes it is his item and he gives it to a friend), the one who is MW7 MW XX is 2917 in
the entire W7pn item and it becomes 1711, s0 no one else can be Y1 afterwards. This is all by n°a7 p72 nwiTp.
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And granted indeed that the first one assumed that it was his (and certainly had
no intention to be WIpn MWwn X°X11), nevertheless he intended to be X321 from his
N1 to his friend’s N9, so only the first one is v,

n19oIN refers back now the 71wn cited in our XIA3:
=999 1915 DY 259 192N NI) PTUY 259119220 N 90D 7298 189559

And therefore it is necessary to say that when the 71w said, “his friend came and

rode on the 2°w7p N2, and his friend came and rode on it, they are all »p%’; it

means that they are all 5y -
- YUY MU INIEADY 19199 191903W 2 Y 9N

Even though each rider intended to steal the o°w77 N2 and to be Mw=n R

MY, nevertheless 15v7 1213 -
- 53 AR SIM YO 1920 D13 SYTPA ITION NIY 2991 N1DNA NIVIN INI 2099 NY ONT

For if it is not so (but they did not intend to steal the 7n712), why teach us this rule
that 12v7 1212 by a nw 921 772, since even by nva7 p72 "w7p there is N Hym

By, in a case -
= 21515959979 N3N 191059 MY NIN MIYID MWD INISIND 191951 13INT XN

Where he has no intent to be nw=% nmwa» X°xw, his intent is only to derive

benefit from it (for he assumes it belongs to him) and leave it, as I explained -
- 22515959945 19393 1919 139N 31 193AN) NN 1M1INNY 3959 BNYY NIN

Rather we must say that in reality the 71wn is discussing a case where each of the

riders intended to steal the 772 and nevertheless Yop2» 3915, as I explained (for by
27 NP it is not Honnn through 77°un).

mooIn finds support that by n°a7 P72 there is a difference whether he is Mwa% nMw-n X°X1 or not:
- 299NN DY NINY N0 NPV 9395 10W NINY A0V 921 N3N )2 PHNY IR

And there is proof to differentiate (by n°a77 »72) whether he benefits from
something which he assumes is his (and there is no intention to steal it) or whether

18 Since we are now saying that even by n°a71 72 nwYTp there can be Yy InR H¥In if each Yy was not M@ n XXM
mwn? (they all thought that it belonged to them and they only used it for themselves), it is necessary to clarify the
awn.

19 They assumed the 7nm2 belonged to someone else and they rode it without permission which is tantamount to 771
(where if it were n*277 272 nw17p, only the first one would be H¥11 since it would be 192117 R¥Y), nevertheless by nw17p
naIn, it is not 1277 X2 and Yovn 193.

20 Seemingly the W% of 121 2371 1720 X231 AnA2 A"y 2011 7°7, does not seem to mean that they intended to steal it, but
rather they assumed it belonged to them; nevertheless we must say that they intended to steal it.

21 See footnote # 15, 16.

22 See footnote # 18.

23 See footnote # 23.
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it is an item which he assumes belongs to others (where by using it, there is the implicit

intention of stealing), the proof is -
= DYNn KXY YIPN DY NP IN JAN DI 23D (8,5 97 nosem) 1379INT NINNN

From that m1wn» which states regarding one who took a stone or beam of w75,

he was not »¥», however if -
= Yy XY 1920 Hyn NIN 19%aNY NI

He gave the stone or beam to his friend, the giver was %¥» but the friend (the

receiver) was not oy -
- 19530 NYPY 39 N1 NI NTPY 29 NN NPV SPUN 119N T299)

And the X3 there asks; let us see, in either case he took it, what difference is
there whether he took it and did not give it to a friend (where he is H¥n &%) or

whether his friend took it from him (where he is yn) -
= YD MY DINSY DIINY 921D HYI01 D2ANA YN NIT XY DI

And the X773 established the Xw>1 where ¥» X® in a case where the stones were

given over to the treasurer of w7p:7 so they did not leave the domain of w7p:7 -
=9V 0NY MIADT DNHN MINY XIN OIMHNY 15N XY 921N 0N

And even the 9213 when he took the stones had no intention of stealing them, but

rather only to benefit from them, for he mistakenly assumed they were his -
= YD MY ONISIND ININIY 299919 HYN NN 2INPT NIYD)H

But the X2°0 which states that the 2213 is ¥» is where he intended to take out

from one M1 (his) to another N9 (his friend’s) -
= 255919 NYN 19°aNY DINI NPT

As the mwn states; he gave them to his friend, the 22 is byn.

mooIn offers an additional proof:
= 0NN MINRPT (3,75 manay MY IIN PIDT NONNN NINY MY

And there is another proof from that X3 in n1aw1 ¥9K P95, where the X713 there

states -
= AYINY 199 0NYAN DNY NN

The father (after passing) left over to his children a borrowed cow -
= DA WA 7 PRYYN NMIDINY NINAL NN DNYAN HWT DN 099205

If the children mistakenly assumed that it was their father’s cow, so they

24 The stones are M°27 P72 *W7p (there is no 31 Nw17P) and we see that when the 7213 mistakenly assumed they were
his stones, so he was not Mw22 Mwan X% there is no 77°vn [there is even no 7X17 N2 02 79°¥n since he did not use
them or derive any benefit from them], however when he gave them away to his friend he is Y¥"m completely (his
friend is not ¥ at all), since he was Mw1? mwan ®XM. [It seems that Moo is proving that there is a difference
whether he intended to be MwA% NN XX or not, but not that there is a difference whether 12 X17w 1120 or 120
o°InR P XITW as Moo stated ([see footnote # 22) because in this case the 7213 was always 17w X17w 7120).]
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slaughtered it and ate it, they pay the owner the cheap price of meat* (not the

regular market price) -
= OOV VWA T PNROIYN MYINY NINIVI PTPIT NNV DI HaN

However if they assumed it was a 17729 (it did not belong to their father), and they

slaughtered it and ate it, they pay the full price of meat -
$OINN Y NINY 205 15V NINY 9120 12 2671990 19981 )5 ON

So therefore we find a difference whether one assumes the item is his or whether
he assumes that the item belongs to others.

Summary
By n°a7 972 "w7p if the users mistakenly assumed the w7pn belonged to them and

they merely used it (but were not Mwa? Mwan X°xM) the 77°¥n is according to the
TRI7 N2 and %3 nR 23 we. If they assumed that it belonged to someone else and
they either used it or were MW1? MW XX, the 79°v» is for the entire amount of
the item and Sy nK S PR. By 7307 nwip in all cases there is 73 nR 530,

Thinking it over

1. In a case where 12112 ¥p21 17720 X21 12 Y3, where each person assumed the axe
was his own (he was not 1307 to be MWL MW A X¥IM), we say 12vn 0912.27 Let us
assume the axe is worth ten 2’11, and each person (by using the axe) was ¥ in one
17 of 7IX17 2. After ten people used it (and need to pay a total of ten 217 for their
m2°yn), will the eleventh person be Y3 if he used this axe??®

2. By the o they pay the full price (when they knew it was a 11779),% because
they caused the owner that much damage, however by 12°¥n we wish to say that by
just transferring it mwa% mwn he should also pay the full 7%vn; what is the
comparison?!3°

25 This is a third less; if they ate thirty 11 worth of meat, they pay only twenty 11. The reason is that the children can
argue if we would have known that it does not belong to us we would not have eaten it (so we did not receive thirty
11 worth of benefit). However we can assume that anybody would be willing to eat for a discount of a third

26 By the o n> when they thought it was theirs, they pay only for the benefit they received (twenty 17 [see footnote #
241), but not the full value. However when they were aware that it is not theirs, they pay the full price (regardless of
the benefit they received). The same is by 717°vn; if the 71 assumed it was his, he pays only for the benefit he received
(and therefore 1 nx H¥1n w°), however if he knew it was not his, he pays the full value even if he received no benefit
at all (and ¥ 30X ¥ PR). See ‘Thinking it over’ # 2.

%7 See footnote # 15.

28 See mwn noma.

2 See footnote # 25.

30 See w"wn.
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